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Note : Answer questions as per instructions in all 

Sections A, B and C. 

Section—A 
Note : Answer any two questions in about 

500 words each. 2×20=40 

1. “Industrialisation is synonymous with economic 

growth.” Discuss. Also state the factors that act 
as barriers to industrialisation in an emerging 
economy like India. 

2. What do you mean by ‘Protectionism’ ? Discuss 
the merits and demerits of protectionism. 
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3. Give a brief account of the growth of 
manufacturing sector in India during the 

planning era. How has it contributed to the 
growth of agricultural sector in India ? 

4. Discuss, giving examples, the factors that have 

contributed to the localisation of industries in 
India. 

Section—B 

Note : Answer any four questions in about 

250 words each. 4×12=48 

5. What do you mean by ‘heavy-industry-led-
growth’ strategy ? What were its implications 
for economic policy ? 

6. Account for the factors that have contributed to 

regional disparities in India. Also suggest 
measures for balanced regional growth. 

7. “Slow industrial growth is responsible for 

widespread unemployment and poverty in 
India.” Do you agree ? Discuss. 
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8. How is the evolution of modern technology 
affecting the growth of small-scale industry in 
India ? 

9. Distinguish between ‘equity capital’ and ‘debt 

capital’ as sources of financing industry in 
India. 

10. What do you mean by ‘Privatisation’ ? Discuss 
its advantages and disadvantages.  

Section—C 

11. Write short notes on any two of the following in 
about 100 words each : 6×2=12 

(a) Pricing of industrial products  

(b) Primary sector and  Secondary sector 

(c) Disguised unemployment 

(d) “Make in India” scheme 
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      EEC-07 

Lukrd mikf/ dk;ZØe 

(ch-Mh-ih-) 

l=kkar ijh{kk  

fnlEcj] 2020 

bZ-bZ-lh--07 % Hkkjr esa vkS|ksfxd fodkl 

le; % 3 ?k.Vs     vf/dre vad % 100 

uk sV % rhuksa [k.Mksa ^d*] ^[k* vkSj ^x* ls funsZ'kkuqlkj 

iz'uksa ds mÙkj nhft,A 

 

 [k.M&d  

uk sV % fdUgha n k s iz'uksa ds mÙkj yxHkx 500 'kCnksa 

(izR;sd) esa nhft,A 2×20=40 

1- ¶vkS|ksxhdj.k vkfFkZd lao`f¼ dk i;kZ;okph gSA¸ ppkZ 

dhft,A Hkkjr tSlh mnhI;eku vFkZO;oLFkk esa 

vkS|ksxhdj.k esa ck/d dkjd Hkh crkb,A 
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2- ^laj{k.kokn* ls vkidk D;k rkRi;Z gS\ laj{k.kokn ds 

xq.k ,oa nks"kksa ij ppkZ dhft,A 

3- Hkkjr esa ;kstukdky esa fofuekZ.k {ks=k dh lao`f¼ dk 

laf{kIr fooj.k nhft,A blus Hkkjr esa d`f"k {ks=k dh 

lao`f¼ esa fdl izdkj lg;skx fn;k Fkk\ 

4- Hkkjr esa vkS|ksfxd ladsanz.k esa ;ksxnku nsus okys dkjdksa 

ij mnkgj.k lfgr ppkZ dhft,A 

 [k.M&[k  

uk sV % fdUgha p kj iz'uksa ds mÙkj yxHkx 250 'kCnksa 

(izR;sd) esa nhft,A 4×12=48 

5- ^Hkkjh m|ksx laizsfjr lao`f¼* ;qfDr ls vki D;k le>rs 

gSa\ vkfFkZd uhfr;ksa esa blds fufgrkFkZ D;k gksrs gSa\ 

6- Hkkjr esa {ks=kh; fo"kerk,¡ c<+kus okys dkjdksa dk C;ksjk 

nhft,A larqfyr {ks=kh; fodkl ds mik; Hkh lq>kb,A 

7- ¶Hkkjr esa iQSyh csjkstxkjh vkSj xjhch ds fy, /heh 

vkS|ksfxd lao`f¼ gh mÙkjnk;h gSA¸ D;k vki lger 

gSaa\ ppkZ dhft,A 
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8- vk/qfud izkS|ksfxdh dk fodkl Hkkjr esa NksVs m|ksxksa 

dh lao`f¼ dks dSls izHkkfor dj jgk gS\  

9- Hkkjr esa vkS|ksfxd foÙkh;u gsrq lzksr ds :i esa va'k 

iw¡th rFkk ½.k iw¡th esa Hksn Li"V dhft,A 

10- futhdj.k ls vki D;k le>rs gSa\ blds xq.k&nks"kksa ij 

ppkZ dhft,A 

 [k.M&x  

11- fuEufyf[kr esa ls fdUgha nks ij laf{kIr fVIif.k;k¡ 

yxHkx 100 'kCnksa (izR;sd) esa nhft, % 6×2=12 
 

 (d)  vkS|ksfxd mRiknksa dk dher fu/kZj.k 

([k)  izkFkfed {ks=k rFkk f}rh;d {ks=k 

(x)  izPNUu csjkstxkjh 

(?k)  ^Hkkjr esa fuekZ.k* ;kstuk 
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